EARAROBREBRT —5 XN—ZXBISH—F

20224E108208 (R) 8EIEAI4H

SR EES

C3=

‘(fﬁ} W ‘I%EH?’JF&] | & 100 =

[AE%] 1 7% :800,000 M  27&:280,000 M . 337%&:160,000 .~ 43 :120,000H . 5 7&:80,000

B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
S~ <, BEAIRIE :31. -1-1- . - INRIRE (GRFD)
11719 IA4F2NU— o4 54.0 1Ef 111405 3 ﬁ FHITEF
RiIAYveEDY BIIAIVHAT SIERUS
= BEE :31. =55~ . - FEABE (HTD)
2 3 OY931—FYUFo— % 4 er 1(731:)7 7-5-5-3 | 38.8 1 (4;(; gﬁi‘aéﬁ&ﬁ
RiTT/—X/ #:091—FIF HOvFIT7—LA
S ~ it 5 | EH—H 1:31.9 3-3-2-2 | 40.6| — 2 38 | NEHE— (A0
38|12/ ¥avAEY A51.0 ) (+14) | PTG
R:T—)VRI—R B:IVFATAVL b e ]
° N N BHRE : -8-7- - AHENER (IE)
4lsle ETF+I—)LR 4 o 1.(332).5 9-8-7-5 | 39.2 9 (4_735) UJ'F};%T@ &
RIN—EYIv— BAXTHUT—F [Ezxe]
~, sy FREE 133, -7-6- . - JIAISFS CGRfD)
517010 2AFYV T R—T 1 4 4 e 1(333)2 6-7-6-7 | 40.1 7 (4+275) E#:éz
RFIWFNSY2 §:R/—T50— Hahiis
S = S B 4 | BAEDR 1:33.3 8-9-8-8 |39.8| — 5 477 | SARBESC GAAD)
oWl 4| PVI—= XYY 4.0 (3/4) -4) TN
R:OVI—FFa—b BiF4—b—FtF IS5
S e = EIHfEAER 133, ~4-4- . - mEE—EE (Rats)
1, BELECERE) w4 | P Gey | T ° | |uEs
R:TSROVT— B:yveVINvES— NE F—
<, 25 : -12-12- - 18 (hots)
8 1l NggYNL— 4% 5 s 1.(313).6 10-12-12-9 | 39.3 8 (4+315) ;ﬂ*mﬁﬁﬁg
R:VIk—k B:EYRNL— Simie
T 1EREB :33. -2-3- . - IVMEGE (GRFD)
o7 TuFT4F—L 4% 5 A (1}_’?276) 2-2-3-4 | 42.3 4 (4:&12) i
R:FZISANILR B:NSF 1 T)b—=Ib BIRSHPHEYS
s = REAIE 134. -10-10- . - SEH—AI CAfD)
N BEEPESEEES B4 Fa 1(3;35 12-10-10-10| 40.6 10 (4+710) N
Rib—EYISAh B:RyyabAv— MHE B
N o aegt :35. -11-11- . - BEBRA (Al
11l | I=wrFZZEL 44 =4 1(355)5 11-11-11-11| 41.6 11 (5+12f; iy
RPIPIITRATVR B:FIVITHYF YIRS
=3 3~ 4 4 | BDHIZ 1:37.7 5-6-9-12 | 44.4| — 12 | 463 | EEHE (A
12/5|5 | =¥/ AV 56.0 (94 1) ) |SEES
RS I/IVITVR B:DUXAT KT 7—L
@ 11— —®BIEfI
13—3+— |[9,7,12,2,5,10,3,4,6,11,1,8
2J0—73— |9,7,12,2,3,5,10,6,4,8,1,11
30—7— 9,12,7,2,3,10,6,4,5,8,1,11
43— — 9,12,3,7,6,2,10,4,11,8,1,5
o ILRE
B B 9 820/ JA R 3-9 310M % 5E 3-7 570M4 3EE 3-9-12 1,350
7B B 9 170 9-12 740/ B 7-3 1,500 3EH 9-3-12 10,740
3 110 3-12 230 /B & 3-9 730
12 170M =51 93 2,360

ABIC OV TRUTEREERRODDZE. THRIIZEL.




